4-5 More Integration:  Here are a few more integration techniques that you may find helpful!

A.  Remember, not all integrals require u-substitution.  If possible, simplify the integrand before 

     finding the antiderivative.


Examples:
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B.  Sometimes, an extra substitution is required:


Example:
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, which is the nested function.  Then 
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But what about that extra factor of x?  Since 
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C.  Remember to change the limits of integration as soon as you do a u-substitution.


Example:
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Let 
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When x = 1 (the lower limit), 
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When x = 2 (the upper limit), 
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Now we’re ready to substitute:
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D.  Always graph integrands that contain absolute values.  You may need to split the integral into

      several integrals.
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Sketch a graph:
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CLASSWORK:  Show all work on separate paper.  Not all of these problems require u-sub! 
1.  
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13.  If 
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15.  Find the average value of 
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